

COMMUNICATIONS

DE LA FACULTÉ DES SCIENCES
DE L'UNIVERSITÉ D'ANKARA

Série A: Mathématiques, Physique et Astronomie

TOME 23 A

ANNÉE 1974

On $|V, \lambda|$ Summability of A Factored Fourier Series

by

RAJIV SINHA

16

Faculté des Sciences de l'Université d'Ankara
Ankara, Turquie

Communications de la Faculté des Sciences
de l'Université d'Ankara

Comité de Rédaction de la Série A,

C. Uluçay, E. Erdik, N. Doğan

Secrétaire de publication

N. Gündüz

La Revue "Communications de la Faculté des Sciences de l'Université d'Ankara" est un organe de publication englobant toutes les disciplines scientifiques représentées à la Faculté: Mathématiques pures et appliquées, Astronomie, Physique et Chimie théorique, expérimentale et technique, Géologie, Botanique et Zoologie.

La Revue, à l'exception des tomes I, II, III, comprend de trois séries

Série A: Mathématiques, Physique et Astronomie.

Série B: Chimie.

Série C: Sciences naturelles.

En principe, la Revue est réservée aux mémoires originaux des membres de la Faculté. Elle accepte cependant, dans la mesure de la place disponible, les communications des auteurs étrangers. Les langues allemande, anglaise et française sont admises indifféremment. Les articles devront être accompagnés d'un bref sommaire en langue turque.

Adres: Fen Fakültesi Tebliğler Dergisi Fen Fakültesi, Ankara, Turquie

On $|V, \lambda|$ Summability of A Factored Fourier Series

RAJV SINHA

Department of Mathematics Aligauh Muslim University, Aligauh

ABSTRACT

Let $f(t)$ be a periodic function with period 2π and integrable in the sense of Lebesgue over $(-\pi, \pi)$. Let

$$f(x) \sim \sum_1^{\infty} A_n(x) = \frac{1}{2} a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$$

We write

$$\varphi(t) = \frac{1}{2} [f(x+t) - f(x-t) - 2f(x)]$$

and

$$\Phi(t) = \int_0^t |\varphi(x)| dx.$$

In this paper the following theorem has been proved which generalizes certain results due to Verma [Abstract, Proc. Indian Sci. Congress [1972]; Liu [Proc. Japan Acad, 41 (1965), 757-757-762].

Theorem. Let $\{\mu_n\}$ be a positive sequence such that $\{\mu_n/(\log n)^\alpha\}$ is monotonic non increasing and $\sum (n \mu_n / \lambda_n^2) (\log n)^{1-\alpha} < \infty$, ($0 \leq \alpha < 1$), then $\sum \mu_n A_n(t)$ is summable $|V, \lambda|$ at every point x satisfying

$$(i) \sum \frac{(n \log n)^{1-\alpha}}{\lambda_n} \mu_n < \infty$$

$$(ii) \int_t^\pi \frac{|\varphi(u)|}{u} du = o((\log 1/t)^{1-\alpha}) \text{ as } t \rightarrow 0.$$

1. Let $\sum a_n$ be a given infinite series with the sequence of partial sums $\{s_n\}$. Let $\lambda = \{\lambda_n\}$ be a monotone non-decreasing

sequence of natural numbers with $\lambda_{n+1}\lambda_n \leq 1$ and $\lambda_1=1$. The sequence to sequence transformation:

$$V_n(\lambda) = \lambda_n^{-1} \sum_{r=n-\lambda_n+1}^n s_r,$$

defines generalized de-la Vallée Poussin means of the sequence $\{s_n\}$ generated by the sequence $\{\lambda_n\}$. The series Σa_n is said to be $|V, \lambda|$, if the series ([1], [2])

$$\sum_{n=1}^{\infty} |V_{n+1}(\lambda) - V_n(\lambda)| < \infty.$$

Let $f(t)$ be a periodic function with period 2π and integrable in the sense of Lebesgue over the interval $(-\pi, \pi)$. Let

$$\Sigma A_n(t) = 1/2 a_0 + \sum_{n=1}^{\infty} (a_n \cos nt + b_n \sin nt)$$

be the Fourier series of $f(t)$.

We write

$$\varphi(t) = 1/2 \{ f(x+t) + f(x-t) - 2f(x) \};$$

and

$$\Phi(t) = \int_0^t |\varphi(u)| du.$$

2. In this note, we prove the following:

Theorem 1. If $\{\mu_n\}$ is a positive sequence such that $\{\mu_n/(\log n)^\alpha\}$ is monotonic non-increasing $\Sigma \frac{n\mu_n}{\lambda_n^2} (\log n)^{1-\alpha} < \infty$, ($0 \leq \alpha < 1$),

then $\Sigma \mu_n A_n(t)$ is summable $|V, \lambda|$ at every point x satisfying

- (i) $\Sigma \frac{n(\log n)^{1-\alpha}}{\lambda_n} \Delta \mu_n$
- (ii) $\int_t^\pi \frac{|\varphi(u)|}{u} du = o((\log 1/t)^{1-\alpha})$ as $t \rightarrow 0$.

(*) Taking $\lambda_n = n$, this reduces to the following known result for absolute Cesaro summability obtained by Verma [3].

Theorem : If $\{\lambda_n\}$ is a positive sequence such that $\{\lambda_n/(\log n)^\alpha\}$ is monotonic non-increasing and $\sum_{n=1}^\infty n^{-\lambda_n} (\log n)^{1-\alpha} < \infty$, ($0 \leq \alpha < 1$),

then $\sum_{n=1}^\infty \lambda_n A_n(t)$ is summable $[C, 1]$ at every point $t = x$ at which

$$\int_t^\pi \frac{|\varphi(u)|}{u} du = o((\log 1/t)^{1-\alpha}), \text{ as } t \rightarrow 0.$$

It may be remarked here that Verma's result under the above hypotheses is an extension of the result of Liu [5] which is further extension of Pati [4]. It may also be noted that our result also generalizes the result of Sharma and Jain [6].

3. We require the following lemmas for the proof of our theorem.

Lemma 1. [7]. If condition (ii) of Theorem 1 holds then

$$\int_0^t |\varphi(u)| du = o(t (\log 1/t)^{1-\alpha}). \tag{3.1}$$

Lemma 2. If condition (ii) of Theorem 1 holds and $S_n(x)$ is the n th partial sum of the Fourier series $\sum A_n(x)$, then

$$\sum_{k=0}^n |S_k(x) - f(x)| = o(n (\log n)^{1-\alpha}), n \rightarrow \infty, 0 \leq \alpha < 1.$$

Proof. First we shall estimate the order of the integral

$$\int_{\pi/n}^\pi \frac{|\varphi(t)|}{t^2} dt. \text{ By integration by parts}$$

$$(3.2) \int_{\pi/n}^\pi \frac{|\varphi(t)|}{t^2} dt = \left[\frac{\Phi(t)}{t^2} \right]_{\pi/n}^\pi + 2 \int_{\pi/n}^\pi \frac{\Phi(t)}{t^3} dt$$

(*) When $\lambda_n = n$, (i) follows from hypothesis $\sum \frac{n \mu_n}{\lambda_n^2} (\log n)^{1-\alpha} < \infty$ by a lemma due to Pati [4].

$$= 0(1) + 0(n \cdot (\log n)^{1-\alpha}) + 0\left(\int_{\pi/n}^{\pi} \frac{(\log 1/t)^{1-\alpha}}{t^2} dt\right)$$

$$= 0(n \cdot (\log n)^{1-\alpha}).$$

by using Lemma 1.

Now consider

$$\begin{aligned} \sum_{v=1}^n (s_v(x) - f(x))^2 &= \sum_{v=1}^n (2/\pi) (2/\pi) \int_0^{\pi} \varphi(t) \frac{\sin vt}{t} dt + 0(1)^2 \\ &= \sum_{v=1}^n \left\{ 4/\pi^2 \int_0^{\pi} \varphi(t) \frac{\sin vt}{t} dt \int_0^{\pi} \varphi(u) \frac{\sin vu}{u} du \right. \\ &+ 0\left(\int_0^{\pi} \varphi(t) \frac{\sin vt}{t} dt\right) + 0(1). \\ &= 4/\pi^2 \int_0^{\pi} \frac{\varphi(t)}{t} dt \int_0^{\pi} \frac{\varphi(u)}{u} \left(\sum_{v=1}^n \sin vt \sin vu\right) du \\ &+ \left(\sum_{v=1}^n \int_0^{\pi} \varphi(t) \frac{\sin vt}{t} dt\right) + 0(n) \\ &= I_1 + 0(\sqrt{I_1}) + 0(n) \end{aligned}$$

where

$$I_1 = 4/\pi^2 \int_0^{\pi} \frac{\varphi(t)}{t} dt \int_0^{\pi} \frac{\varphi(u)}{u} \left(\sum_{v=1}^n \sin vt \sin vu\right) du$$

We shall divide I_1 into four parts

$$\begin{aligned} I_1 &= \frac{4}{\pi^2} \left(\int_0^{\pi/n} \int_0^{\pi/n} + \int_0^{\pi/n} \int_{\pi/n}^{\pi} + \int_{\pi/n}^{\pi} \int_0^{\pi/n} + \int_{\pi/n}^{\pi} \int_{\pi/n}^{\pi} \right) \\ &= J_1 + J_2 + J_3 + J_4 \end{aligned}$$

By condition (Lemma 1.), we get

$$\begin{aligned} |J_1| &\leq \frac{4}{\pi^2} \int_0^{\pi/n} |\varphi(t)| dt \int_0^{\pi/n} |\varphi(u)| \left(\sum_{v=1}^n v^2\right) du \\ &= 0(n \cdot (\log n)^{2(1-\alpha)}) \end{aligned}$$

By Lemma 1 and (3.1) we get

$$|J_2| \leq \frac{4}{\pi^2} \int_0^{\pi/n} |\varphi(t)| dt \int_{\pi/n}^{\pi} \frac{|\varphi(u)|}{u} \left(\sum_{r=1}^n v \right) du$$

$$= O(n(\log n)^{2(1-\alpha)}).$$

J_3 is equal to J_2 . Hence it remains to estimate J_4 :

$$J_4 = \frac{2}{\pi^2} \int_{\pi/n}^{\pi} \frac{\varphi(t)}{t} dt \int_{\pi/n}^{\pi} \frac{\varphi(u)}{u} \int_{v=1}^n (\cos v(u-t) - \cos v(u+t)) du$$

$$= \frac{2}{\pi^2} \int_{\pi/n}^{\pi} \frac{\varphi(t)}{t} dt \int_{\pi/n}^{\pi} \frac{\varphi(u)}{u} (D_n(u-t) - D_n(u+t)) du$$

$$= O \left(\int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} dt \int_{\pi/n}^{\pi} \frac{|\varphi(u)|}{u} \frac{|\sin(n+1/2)(u-t)|}{|u-t|} du \right)$$

$$+ O \left(\int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} dt \int_{\pi/n}^{\pi} \frac{|\varphi(u)|}{u} \frac{|\sin(n+1/2)(u+t)|}{u+t} du \right)$$

$$= O(J'_4 + J''_4)$$

then

$$J'_4 = \int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} dt \left(\int_{|u-t| \leq \pi/2n} + \int_{|u-t| > \pi/2n} \right) \frac{|\varphi(u)|}{u}$$

$$\times \frac{|\sin(n+1/2)(u-t)|}{|u-t|} du$$

$$= J'_{41} + J'_{42}$$

By integration by parts and Lemma I and (3.2) we get

$$J'_{41} \leq (n+1/2) \int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} dt \int_{t-\pi/n}^{t+\pi/n} \frac{|\varphi(u)|}{u} du$$

$$= (n+1/2) \int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} dt \left\{ \left[\frac{\varphi(t+\pi/2n)}{t+\pi/2n} - \frac{\varphi(t-\pi/2n)}{t-\pi/2n} \right] \right\}$$

$$\begin{aligned}
& + \int_{t-\pi/n}^{t+\pi/n} \frac{\varphi(u)}{u^2} du \Big\} \\
& = 0 \left(n \int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} \left\{ (\log(t+\pi/2n))^{1-\alpha} - (\log(t-\pi/2n))^{1-\alpha} \right\} dt \right. \\
& + 0 \left(n \int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} \left\{ (\log(t+\pi/2n))^{1-\alpha} - (\log(t-\pi/2n))^{1-\alpha} \right\} dt \right) \\
& = 0 (n (\log n)^{1-\alpha}),
\end{aligned}$$

further,

$$\begin{aligned}
J'_{42} & \leq \left(\int_{\pi/n}^{\pi-\pi/2n} \int_{t+\pi/2n}^{\pi} + \right. \\
& \quad \left. + \int_{\pi/n+\pi/2n}^{\pi} \int_{\pi/n}^{t-\pi/n} \right) \frac{|\varphi(u)|}{t} \frac{|\varphi(u)|}{u|u-t|} dt du \\
& = J'_{421} + J'_{422}.
\end{aligned}$$

By integration by parts and by Lemma 1 and (3.1) we get

$$\begin{aligned}
J'_{421} & = \int_{\pi/n}^{\pi-\pi/2n} \frac{|\varphi(t)|}{t} dt \left\{ \left[\frac{\varphi(u)}{u|u-t|} \right]_{t+\pi/2n}^{\pi} \right. \\
& \quad \left. - \int_{t+\pi/2n}^{\pi} \frac{\varphi(u)(2u-t)}{u^2(u-t)^2} du \right\} \\
& = \frac{\varphi(\pi)}{\pi} \int_{\pi/n}^{\pi-\pi/2n} \frac{|\varphi(t)|}{t(\pi-t)} dt \\
& \quad + 0 \left(n \int_{\pi/n}^{\pi-\pi/2n} \frac{|\varphi(t)| \log \frac{1}{(t+\pi/2n)}}{t} dt \right) + \\
& \quad + 0 \left(\int_{\pi/n}^{\pi-\pi/2n} \frac{|\varphi(t)|}{t} dt \left(\int_{t+\pi/2n}^{\pi} \frac{(2u-t)(\log 1/u)^\alpha}{u(u-t)^2} du \right) \right) \\
& = 0 (n (\log n)^{1-\alpha} \cdot (\log n)^{1-\alpha} = (n \cdot (\log n)^{2(1-\alpha)})
\end{aligned}$$

J'_{422} is equal to J'_{421} . By (3.2) and (3.1)

$$J''_4 \leq \int_{\pi/n}^{\pi} \frac{|\varphi(t)|}{t} dt \int_{\pi/n}^{\pi} \frac{|\varphi(u)|}{u^2} du$$

$$= O((\log n)^{1-\alpha} \cdot n (\log n)^{1-\alpha}) = O((\log n)^{2(1-\alpha)} \cdot n)$$

Thus we get the conclusion

$$\sum_{v=1}^n (s_v(x) - f(x))^2 = O(n (\log n)^{2(1-\alpha)}).$$

Now by Cauchy's inequality we get

$$\sum_{v=1}^n |s_v(x) - f(x)| = O(n \cdot (\log n)^{(1-\alpha)})$$

Lemma 3. If $\int_t^{\pi} \frac{|\varphi(u)|}{u} du = O((\log 1/t)^{1-\alpha})$ as $t \rightarrow 0$,

$0 \leq \alpha < 1$, and $T_n(x) = 1/n+1 \sum_{k=1}^n k A_k(x)$, then

$$\sum_{k=1}^n |T_k(x)| = O(n (\log n)^{1-\alpha}), \quad n \rightarrow \infty, \quad 0 \leq \alpha < 1.$$

Proof. Let

$$p_n(x) = \frac{1}{n+1} \sum_{k=0}^n s_k(x).$$

Then by Lemma 1,

$$|p_n(x) - f(x)| \leq \frac{1}{n+1} \sum_{k=1}^n |s_k(x) - f(x)|$$

$$= O\left(\frac{1}{n+1} \cdot n \cdot (\log n)^{1-\alpha}\right)$$

$$= O((\log n)^{1-\alpha}), \quad n \rightarrow \infty, \quad 0 \leq \alpha < 1,$$

so that

$$\sum_{k=1}^n |p_k(x) - f(x)| = \sum_{k=1}^n O((\log k)^{(1-\alpha)}),$$

$$= O(n (\log n)^{1-\alpha}).$$

Since $T_n(x) = S_n(x) - p_n(x)$, we have

$$\begin{aligned} \sum_{k=1}^n |T_n(x)| &\triangleq \sum_{k=1}^n |s_k(x) - f(x)| + \sum_{k=1}^n |p_k(x) - f(x)| \\ &= O(n(\log n)^{1-\alpha}). \end{aligned}$$

Lemma 4. If $\{\mu_n\}$ is positive sequence such that $\{\mu_n / (\log n)^\alpha\}$ is monotonic non increasing and $\sum \frac{n \mu_n}{\lambda_n^2} (\log n)^{1-\alpha} < \infty$, then

$$(i) \sum_{n=1}^m \log(n+1) \cdot \Delta \mu_n = O(1), \text{ as } m \rightarrow \infty.$$

$$(ii) \sum_{n=1}^m n \cdot \lg(n+1) \cdot \Delta^2 \mu_n = O(1), \text{ as } m \rightarrow \infty.$$

Proof. The convergence of $\sum \frac{n \mu_n}{\lambda_n^2} (\log n)^{1-\alpha} \Rightarrow$ the convergence of $\sum \frac{\mu_n}{n}$. For the remainder of the proof, see [8] and [4] respectively.

Proof of Theorem 1. It is easy to find

$$V_{n+1}(\lambda) - V_n(\lambda) = \frac{1}{\lambda_n \lambda_{n+1}} \sum_{k=n-\lambda_n+2}^{n+1} \{(\lambda_{n+1} - \lambda_n)(k-n-1) + \lambda_n\} a_k$$

Let $V_n(\lambda; x)$ denote the n th de la Vallée Poussin mean of the series $\sum \mu_n A_n(x)$. Then we have

$$\begin{aligned} \sum_{n=1}^{\infty} |V_{n+1}(\lambda; x) - V_n(\lambda; x)| &= \sum_{n=1}^{\infty} \left| \frac{1}{\lambda_n \lambda_{n+1}} \sum_{k=n-\lambda_n+2}^{n+1} \{(\lambda_{n+1} - \lambda_n)(k-n-1) + \lambda_n\} \mu_k A_k(x) \right| \end{aligned}$$

Let \sum'_n be the summation over all n satisfying $\lambda_{n+1} = \lambda_n$ and \sum''_n be the summation over all n where $\lambda_{n+1} > \lambda_n$. Then by Abel's transformation, we have

$$\begin{aligned}
 \Sigma'_n &= \Sigma'_n \frac{1}{\lambda_{n+1}} \left| \sum_{k=n-\lambda_n+2}^{n+1} \frac{\mu_k}{k} k A_k(x) \right| \\
 &= \Sigma_n \frac{1}{\lambda_{n+1}} \left| \sum_{k=n-\lambda_n+2}^n \left(\sum_{v=1}^k v A_v(x) \cdot \Delta \left(\frac{\mu_k}{k} \right) \right) - \right. \\
 &\quad \left. - \frac{\mu_{n-\lambda_n+2}}{n-\lambda_n+2} \left(\sum_{v=1}^{n-\lambda_n+1} v A_v(x) \right) + \frac{\mu_{n+1}}{n+1} \left(\sum_{v=2}^{n+1} v A_v(x) \right) \right| \\
 &\leq \Sigma'_n \frac{1}{\lambda_{n+1}} \left\{ \sum_{k=n-\lambda_n+2}^n \left| \sum_{v=1}^n v A_v(x) \right| \cdot \Delta \left(\frac{\mu_k}{k} \right) + \right. \\
 &\quad \left. + \frac{\mu_{n-\lambda_n+2}}{n-\lambda_n+2} \left| \sum_{v=1}^{n-\lambda_n+1} v A_v(x) \right| + \frac{\mu_{n+1}}{n+1} \left| \sum_{v=1}^{n+1} v A_v(x) \right| \right\} \\
 &= \Sigma'_n (1) + \Sigma'_n (2) + \Sigma'_n (3), \text{ say.}
 \end{aligned}$$

Since the inside lower indices $n-\lambda_n+2$ in $\Sigma'_n (1)$ are strictly increasing, we have

$$\begin{aligned}
 \Sigma'_n (1) &= 0 \left\{ \sum_{k=1}^{\infty} k \left| T_k(x) \right| \cdot \Delta \left(\frac{\mu_k}{k} \right) \sum_{n=k}^{k+\lambda_n-1} \frac{1}{\lambda_n} \right\} \\
 &= 0 \left\{ \sum_{k=1}^{\infty} k \left| T_k(x) \right| \cdot \Delta \left(\frac{\mu_k}{k} \right) \right\} = M(x), \text{ say.}
 \end{aligned}$$

Using Abel's transformation again, we get

$$\begin{aligned}
 M(x) &= 0 \left\{ \sum_{n=1}^{\infty} \left(\sum_{k=1}^n k \left| T_k(x) \right| \right) \cdot \Delta^2 \left(\frac{\mu_n}{n} \right) \right\} \\
 &= 0 \left\{ \sum_{n=1}^{\infty} n^2 (\log n)^{1-\alpha} \cdot \Delta^2 \left(\frac{\mu_n}{n} \right), \right\} \text{ by Lemma 3} \\
 &= 0 \left\{ \sum_{n=1}^{\infty} n (\log n)^{(1-\alpha)} \cdot \Delta^2 \mu_n \right\} \\
 &\quad + 0 \left\{ \sum_{n=1}^{\infty} (\log n)^{(1-\alpha)} \cdot \Delta \mu_n \right\}
 \end{aligned}$$

$$+ 0 \left\{ \sum_{n=1}^{\infty} \frac{\mu_n}{n} (\log n)^{1-\alpha} \right\}$$

(4.1) = 0 (1). by Lemma 4 (i), 4 (ii) and the hypothesis (i).
Further, it is easy to see that

$$\Sigma'_n(2) + \Sigma'_n(3) = 0 \left\{ \sum_{n=1}^{\infty} \frac{\mu_n}{\lambda_n} |T_n(x)| \right\} = N(x), \text{ say.}$$

Again, Abel's transformation gives that

$$\begin{aligned} N(x) &= 0 \left\{ \sum_{n=1}^{\infty} \left(\sum_{k=1}^n |T_k(k)| \right) \cdot \Delta \left(\frac{\mu_n}{\lambda_n} \right) \right\} \\ &= 0 \left\{ \sum_{n=1}^{\infty} n (\log n)^{1-\alpha} \cdot \Delta \left(\frac{\mu_n}{\lambda_n} \right) \right\} \text{ by Lemma 3.} \\ &= 0 \left\{ \sum_{n=1}^{\infty} \frac{n \mu_n (\log n)^{1-\alpha}}{\lambda^2 n} \right\} + 0 \left\{ \sum_{n=1}^{\infty} \frac{n (\log n)^{1-\alpha} \cdot \Delta \mu_n}{\lambda_n} \right\} \end{aligned}$$

(4.2) = 0 (1), by hypotheses (i) and (ii).

The estimation of Σ''_n is somewhat more tricky. We get, with the aid of Abel's transformation, that

$$\begin{aligned} \Sigma''_n &= \Sigma''_n \frac{1}{\lambda_n \lambda_{n+1}} \left| \sum_{k=n-\lambda_n+2}^{n+1} (\lambda_n - n - 1 + k) \frac{\mu_k}{k} k A_k(x) \right| \\ &= 0 \left[\Sigma''_n \frac{1}{\lambda^2_n} \left\{ \sum_{k=n-\lambda_n+2}^n k |T_k(x)| \cdot \Delta((\lambda_n - n - 1 + k) \frac{\mu_k}{k}) \right\} + \right. \\ &\quad \left. + (n - \lambda_n + 1) |T_{n-\lambda_n+1}(x)| \frac{\mu_n - \lambda_n + 2}{n - \lambda_n + 2} + \right. \\ &\quad \left. + (n+1) |T_{n+1}(x)| \frac{\lambda_n \mu_{n+1}}{n+1} \right] \\ &= \Sigma''_n(1) + \Sigma''_n(2) + \Sigma''_n(3), \text{ say.} \end{aligned}$$

Since

$$\left| \Delta \left((\lambda_n - n - 1 + k) \frac{\mu_k}{k} \right) \right| = \left| (\lambda_n - n - 1 + k) \frac{\mu_k}{k} - (\lambda_n - n - k) \frac{\mu_{k+1}}{k+k} \right|$$

$$\leq \lambda_k \left(\frac{\mu_k}{k} - \frac{\mu_{k-1}}{k+1} \right) + \frac{\mu_k}{k},$$

we have

$$\Sigma''_n(1) \leq \sum_{k=2}^{\infty} |T_k(x)| \left\{ k\lambda_k \left(\frac{\mu_k}{k} - \frac{\mu_{k+1}}{k+1} \right) + \mu_k \right\}$$

$$\sum_{n \geq k} \frac{1}{\lambda_n^2}.$$

Further, since Σ''_n has only the indices n having the property $\lambda_{n+1} > \lambda_n$, it follows that

$$\sum_{n \geq k} \frac{1}{\lambda_n^2} \leq \sum_{v=\lambda_k}^{\infty} \frac{1}{v^2} = o\left(\frac{1}{\lambda_k}\right).$$

Hence

$$\begin{aligned} \Sigma_n''(1) &= o\left\{ \sum_{k=1}^{\infty} k |T_k(x)| \cdot \Delta\left(\frac{\mu_k}{k}\right) \right\} \\ &+ o\left\{ \sum_{k=2}^{\infty} |T_k(x)| \cdot \frac{\mu_k}{\lambda_k} \right\} \\ &= o(1), \text{ by (4.1) and (4.2)} \end{aligned}$$

Also,

$$\begin{aligned} \Sigma_n''(2) + \Sigma_n''(3) &= o\left\{ \sum_{n=1}^{\infty} \frac{\mu_n}{\lambda_n} |T_n(x)| \right\} \\ &= o(1), \text{ by (4.2)} \end{aligned}$$

This completes the proof.

REFERENCES

[1] L. Leindler: *Über die verallgemeinerte de Vallee Poussinsche Summierbarkeit allgemeiner Orthogonalreihen*, Acta Math. Hung. 16 (1965), 375-387.
 [2] L. Leindler: *On the absolute summability factors of Fourier series*, Acta Sci. Math. Szeged 28 (1967), 323-336.

- [3] V. P. Verma: *On the absolute Cesaro summability factors of Fourier series*, Abstract, Proc. Indian Sci. Congress (1972).
- [4] T. Pati: *Absolute Cesaro summability factors of infinite series*, M.Z. 78 (1962), 293-297.
- [5] T.S. Liu: *On the absolute Cèsaro summability factors of Fourier series*, Proc. Japan Acad. 41 (1965), 757-762.
- [6] P.L. Sharma; R.K.Jain: *On $|V, \lambda|$ summability of a factored Fourier series*, Mathematical Versnik. 7 (22) 1970, 37-42.
- [7] M.L. Misra: *On the determination of the jump of the function by its Fourier coefficients*, Quart. J. Math, 18 (1947), 129-134.
- [8] E.C. Daniel: *On absolute summability factors of infinite series*, Proc. Japan Acad. 40 (1964), 65-69.

Prix de l'abonnement annuel

Turquie: 15 TL; Étranger: 30 TL.

Prix de ce numéro: 5 TL (pour la vente en Turquie).

Prière de s'adresser pour l'abonnement á: Fen Fakóltesi
Dekanlıđı Ankara, Turquie.